BITRIAL-##HH (CERI0FE481HEAE)

JE3 7l 2 =z B HEA
AWL—TH 726 741 1,467 718
AIL=TH 677 667 1,344 560
ALU=TH 514 514 1,028 475
#Hra—TH 497 539 1,036 512
SR ="TH 923 970 1,893 807
HyA=TH 628 640 1,268 530
S AMTH 467 484 951 421
SMIARTH 650 672 1,322 606
HBRTH 249 264 513 240
MR tTH 824 836 1,660 693
S a/)\TH 471 481 952 415
BMITA/ATH 751 747 1,498 645
HEsAS—TH 415 398 813 348
HESA-TH 1,067 1,068 2,135 1,015
HETA=TH 746 778 1,524 698
B a8—TH 617 625 1,242 552
B8 _TH 497 430 927 399
EE#sa8=TH 278 272 550 249
B ANMTH 694 644 1,338 582
EF7i0 446 474 920 414
FEFHIA—TH 187 209 396 177
HEFIOZTH 494 511 1,005 421
BEFA=TH 854 890 1,744 709
HEFIMTH 901 946 1,847 747
BEFARATH 487 477 964 419
FLEFFIANRTH 487 505 992 437
BEFIOETH 741 772 1,513 700
a8 57 1,465 1,620 3,085 1,560
BiAR 364 346 710 350
EFAhR—TH 469 497 966 459
EFAGhR-TH 255 248 503 248
EFAGhR=TH 608 604 1,212 552
EFAhRMETH 586 628 1,214 597
EFAhRETH 267 286 553 223
EFARE—TH 647 717 1,364 640
EFIAEI—TH 631 712 1,343 643
FiR 485 403 888 383
HR—TH 867 858 1,725 740
HHR-TH 1,821 1,852 3,673 1,590
BEHR=TH 1,116 1,141 2257 896
BRIUTH 573 617 1,190 514
dtR—TH 768 789 1,557 641
dHR=TH 1,106 1,118 2224 918
dHR=TH 510 461 971 459
Fh R T ET 402 435 837 343
= 1,928 2058 3,986 1,732
BE¥E—TH 939 942 1,881 787
BEYE—_TH 967 922 1,889 752
EYE=TH 824 808 1,632 682
EYENTH 1,125 1,141 2266 960
E#ERTH 690 716 1,406 605
EM=/TH 527 555 1,082 452
BERIx 560 587 1,147 534
hR—TH 339 343 682 336
hR-TH 696 716 1,412 649




JE3 7l 2 = B K
EM—TH 361 373 734 359
EFE-TH 685 715 1,400 655
ER=TH 508 490 998 387
HYE—TH 494 512 1,006 432
HYE—TH 539 582 1,121 456
HYE=TH 1,008 996 2,004 817
HYEMTH 530 558 1,088 497
HYEARTH 866 917 1,783 810
HYENTH 265 261 526 252
<HEWL—TH 717 733 1,450 641
<HEWLWZTEH 762 753 1,515 711
<HEWLW=TEH 614 592 1,206 543
<HELMTH 570 563 1,133 572
<HFEWARTH 437 359 796 364
YEXRE—TH 860 848 1,708 783
YEARIZTH 563 568 1,131 470
LtHE 404 429 833 435
s 8—TH 653 835 1,488 859
HETS8-TH 292 332 624 357
By AR=TH 768 883 1,651 602
iU TH 364 405 769 362
£ IS H 34 31 65 25
£ 928 955 1,883 853
{20 321 307 628 311
hiEER—TH 558 532 1,090 444
hEERB=ZTH 400 401 801 341
faiEER—TH 692 661 1,353 638
fAiEER=-TH 591 625 1,216 517
R A 339 326 665 297
BHR 348 272 620 286

it 54,294 55,488 109,782 48,810




